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elevation (deg) (offset subtracted)
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elevation (deg) (offset subtracted)

SCP

plot.tilt(rm.azm = azm, ellim = ellim) from u.4m.M v.4m.M w.4m.M

dataset

0

instrument; coords = instrument

.
L4 °
°
° .
° . ° ¢
.

oco]soou-uo
3

.

°
o0 do
e oo

3
« y“t.: ce? o9%
éi;o e &

3
L3

1. e oo
.

.

O v O
0

.
.

°
)
oos

1

)

5
'030., .o.o.ﬁ LY
L

L]
. °

-180

b =-0.001-0.021 -0.011 : ,-.. s: . . rms residual= 5 cm/s, 1.3 deg
lean= 1.4 deg, leanaz= 27.5 deg A . *offset= 0 &m/s; pitch=-1.2 , roll= 0.6 deg
I [ . I I cadecootonen | I [ . I . I
-150 -120 -90 -60 -30 0 30 60 90 120 150

azimuth (deg)
10/02/2012 00:02:30.000-11/30/2012 23:57:30.000; stn=0

180

Main Tower (4m)

NCAR 19:28 Dec 22 2013 MST



plot.tilt(rm.azm = azm, ellim = ellim) from u.5m.M v.5m.M w.5m.M
dataset = instrument; coords = instrument
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elevation (deg) (offset subtracted)
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plot.tilt(rm.azm = azm, ellim = ellim) from u.20m.M v.20m.M w.20m.M
dataset = instrument; coords = instrument
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plot.tilt(rm.azm = azm, ellim = ellim) from u.20m.M v.20m.M w.20m.M
dataset = instrument; coords = instrument
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elevation (deg) (offset subtracted)

plot.tilt(rm.azm = azm, ellim = ellim) from u.1m v.1m w.1m
dataset = instrument; coords = instrument
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plot.tilt(rm.azm = azm, ellim = ellim) from u.1m v.1m w.1m
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plot.tilt(rm.azm = azm, ellim = ellim) from u.1m v.1m w.1m
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plot.tilt(rm.azm = azm, ellim = ellim) from u.1m v.1m w.1m
dataset = instrument; coords = instrument
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plot.tilt(rm.azm = azm, ellim = ellim) from u.1m v.1m w.1m
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elevation (deg) (offset subtracted)

SCP

plot.tilt(rm.azm = azm, ellim = ellim) from u.1m v.1m w.1m
dataset = instrument; coords = instrument
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elevation (deg) (offset subtracted)

SCP

plot.tilt(rm.azm = azm, ellim = ellim) from u.1m v.1m w.1m
dataset = instrument; coords = instrument
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b =-0.014 -0.010 -0.049 rms residual= 2 cm/s, 0.4 deg
lean= 2.9 deg, leanaz= 78.4 deg offset= -1 cm/s; pitch=-0.6 , roll= 2.8 deg
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elevation (deg) (offset subtracted)

SCP

plot.tilt(rm.azm = azm, ellim = ellim) from u.1m v.1m w.1m
dataset = instrument; coords = instrument

b =-0.018 -0.018 -0.053
lean= 3.2 deg, leanaz= 71.2 deg

.

rms residu'aI: 2.cm/s, 0.5 deg
offset= -2 cmy/s; pitch=-1.0, roll= 3.1 deg
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azm, ellim = ellim) from u.1m v.1m w.1m

plot.tilt(rm.azm

: coords = instrument

dataset = instrument
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elevation (deg) (offset subtracted)

SCP

plot.tilt(rm.azm = azm, ellim = ellim) from u.1m v.1m w.1m
dataset = instrument; coords = instrument

b =-0.015-0.013 0.012 .
lean= 1 deg, leanaz=-43.3 deg

[ I I I I

rms residual= 2 cm/s, 0.6 deg
offset= -2 cm/s; pitch=-0.8, roll=-0.7 deg
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elevation (deg) (offset subtracted)

SCP

plot.tilt(rm.azm = azm, ellim = ellim) from u.1m v.1m w.1m

dataset = instrument; coords = instrument
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elevation (deg) (offset subtracted)

SCP

plot.tilt(rm.azm = azm, ellim = ellim) from u.1m v.1m w.1m

dataset = instrument; coords = instrument

b =-0.633 -0.009 -0.023
lean= 1.4 deg, leanaz= 69.4 deg
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rms residual= 5 cm/s, 1.2 deg
offset= -3 cm/s; pitch=-0.5, roll= 1.3 deg
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azm, ellim = ellim) from u.1m v.1m w.1m

plot.tilt(rm.azm

dataset = instrument; coords = instrument
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elevation (deg) (offset subtracted)

SCP

plot.tilt(rm.azm = azm, ellim = ellim) from u.1m v.1m w.1m
dataset = instrument; coords = instrument
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b =-0.019 -0.024 -0.070 rms residual= 1 cm/s, 0.4 deg
lean= 4.2 deg, leanaz= 71 deg offset= -2 cm/s; pitch=-1.4 , roll= 4.0 deg
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azm, ellim = ellim) from u.1m v.1m w.1m

plot.tilt(rm.azm

dataset = instrument; coords = instrument
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elevation (deg) (offset subtracted)

SCP

plot.tilt(rm.azm = azm, ellim = ellim) from u.1m v.1m w.1m
dataset = instrument; coords = instrument

b =-0.015 -0.020 -0.071 .
lean= 4.2 deg, leanaz= 74.3 deg
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